

Name: Selim Salsawati

Department: Elect / Elect

Matrik: 16/ENG04/053

$$\lim_{x \rightarrow \frac{\pi}{2}} \left[ \left( x^2 - \frac{\pi}{4} \right) \sin(\cos x) \right]$$

$$= \left[ \frac{\left( \frac{\pi}{2} \right)^2 - \frac{\pi}{4}}{\frac{\pi}{2} - \frac{\pi}{2}} \sin\left(\cos \frac{\pi}{2}\right) \right]$$

$$= \left[ \frac{\left( \frac{\pi}{2} \right)^2 - \frac{\pi}{4}}{\frac{\pi}{2} - \frac{\pi}{2}} \sin\left(\cos \frac{\pi}{2}\right) \right]$$

Using L'Hopital's rule  $\frac{dy}{dx} + v \frac{dv}{dx}$   
 $\frac{dy}{dx} = \text{let } u = x^2 - \frac{\pi}{4} \text{ and } v = \sin(\cos x)$

$$\frac{dy}{dx} = \sin(\cos x) = \text{Let } \cos x = w$$

$$v = \sin w$$

$$\frac{dy}{dx} = \cos w, \quad \frac{dw}{dx} = -\sin w$$

$$\frac{dy}{dx} = \frac{dy}{dw} \times \frac{dw}{dx} = -\sin w \cos(\cos w)$$

$$= \left( x^2 - \frac{\pi}{4} \right) x - \sin x \cos(\cos x) + 0 \cdot 1 \cos(x) (2x)$$

$$\left( \frac{\pi}{2} \right)^2 - \frac{\pi}{4} x - \sin 90 \cos(\cos 90) + 0 \cdot 1 \cos 90 \cdot x \cdot 2 \left( \frac{\pi}{2} \right)$$

$$= \left( \frac{\pi^2}{4} - \frac{\pi}{4} \right) x - 1 + 0 \cdot x \cdot \pi$$

2) Determine whether each of the following series is convergent

(a)  $\frac{2}{2 \times 3} + \frac{2}{3 \times 4} + \frac{2}{4 \times 5} + \frac{2}{5 \times 6} + \dots$

$$u_n = \frac{2}{(n+1)(n+2)} \quad u_{n+1} = \frac{2}{(n+2)(n+3)}$$

$$\frac{u_{n+1}}{u_n} = \frac{2}{(n+2)(n+3)} \times \frac{(n+1)(n+2)}{2}$$

$$= \frac{n+1}{n+3}$$

$$\lim_{n \rightarrow \infty} \frac{u_{n+1}}{u_n} = \lim_{n \rightarrow \infty} \frac{n+1}{n+3}$$

$$= \frac{n}{n} + \frac{1}{n} = \frac{n+1}{n} = \frac{n+0}{n+0} = \frac{1}{1} = 1 //$$

Since  $\lim_{n \rightarrow \infty} \frac{u_{n+1}}{u_n} < 1$

The series is convergent

(b)  $\frac{2}{1^2} + \frac{2}{2^2} + \frac{2}{3^2} + \frac{2}{4^2} + \dots$

$$u_n = \frac{2}{n^2} \quad u_{n+1} = \frac{2}{(n+1)^2}$$

$$\lim_{n \rightarrow \infty} \frac{u_{n+1}}{u_n} = \frac{u_{n+1}}{u_n} = \frac{2}{(n+1)^2} \times n^2$$

$$= \frac{n^2}{(n+1)^2} = \frac{n^2}{n^2 + 2n + 1}$$

$$\lim = \frac{n^2}{n^2} = \frac{1}{1 + \frac{2}{n} + \frac{1}{n^2}} = \frac{1}{1} = 1 //$$

$$\frac{1}{n^2} + \frac{2}{n^2} + \frac{1}{n^2}$$

$$\left( 8 + \frac{2}{n} + \frac{1}{n^2} + \frac{1}{n^3} \right)$$

$$\left( 8 + \frac{24}{n} + \frac{24}{n^2} + \frac{8}{n^3} \right)$$

as  $n \rightarrow \infty$ ,  $\frac{1}{n} \rightarrow 0$

$$\frac{8x}{8} \geq x - 1 \quad x < 1$$

Evaluate using L'Hopital's Rule

$$\lim_{x \rightarrow 0} \left( \frac{\sin x - \cos x}{x^3} \right)$$

$$\lim_{x \rightarrow 0} \left( \frac{\sin x - \cos x}{x^3} \right) = \lim_{x \rightarrow 0} \left( \frac{\cos x + \sin x}{3x^2} \right)$$

$$= \lim_{x \rightarrow 0} \left( \frac{-\sin x + \cos x}{6x} \right)$$

$$= \lim_{x \rightarrow 0} \left( \frac{-x \cos x - \sin x}{6} \right)$$

$$= \frac{-\cos 0 - \sin 0}{6}$$

$$= \frac{-1 - 0}{6}$$

$$= -\frac{1}{6}$$